## UNIVERS

	. 1		2		× 3		× • 4		. 5		<b>1</b>
s a ∑	MTH 1112 OR HIGHER	3	AREA II FINE ARTS COURSE	3	ENG 1102/04	3	AREA IV SS COURSE	3	HSTM 2220	3	
	ENG 1101/03	3	COURSE	3	COURSE	3/1	15 2241	3	COURSE	3	
	TROY 1101	1			THE NEW YORK		Charles Ball		Same and the second	18	
	TOTAL	7	TOTAL	6	TOTAL	7	TOTAL	6	TOTAL	6	
N.	× 1		× • 2		<b>. • ●</b> 3		•• 4		. 5		
	AREA II LIT Course	3	AREA IV HIS Course	3	AREA II HUM/FA Course	3	REQ MAJ COURSE	3	MINOR COURSE	3	
	AREA III SCI/LAB Course	3/1	AREA IV SS Course	3	HSTM 2201	3	REQ MAJ COURSE	3	REQ MAJ COURSE	3	
	TOTAL	7	TOTAL	6	TOTAL	6	TOTAL	6	TOTAL	6	
					J. H. J. K. H. P. P.		1				
					机运行动力		化化石化 推进的制度		- Cherter And		
	A. Obtained and				1. A. A. A. A.		are see that the		1.1.4.20 - 12.43		1.18
- X ¥					Sold in the second		Print the state of the		PART LA TRA	1.13	
	. 1		. 2		. 3		• • 4		. 5		
	REQ MAJ COURSE	3	REQ MAJ COURSE	3	REQ MAJ COURSE	3	HSTM 4488	3	HSTIM 4489	3	
	ADVISOR Approved elec	3	MINOR COURSE	3	MINOR COURSE	3					
				<b>H</b> ie	HSTM 4499	3					
	STATISTICS.	100	HERE WEIGHT CHAN				TION APPLICATION		CONTRACTOR OF THE OWNER		
	TOTAL	6	TOTAL	6	TOTAL	9	TOTAL	3	TOTAL	3	1.38.1
	Steller and state						A CONTRACTOR OF			0	

1



.0.	$\sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \frac{\partial (x_i + y_i)}{\partial (x_i + y_i)} = \sum_{i=1}^{n} \partial (x_i$	( , , , , ) )
HSTM 2201 HSTM 3365 HSTM 4450 HSTM 3350 HSTM 4470 HSTM 4499	LEISURE IN SOCIETY Research methods in HSTM Event Management in HSTM Leadership Principles in HSTM Revenue generation in HSTM Seminar in HSTM	3 HOURS 3 HOURS 3 HOURS 3 HOURS 3 HOURS 3 HOURS
HSTM 4431	ANALYTICS IN HSTM	3 HOURS 3 HOURS
HSTM 2220 HSTM 2230 HSTM 4462 HSTM 4420 HSTM 3330 HSTM 3325	INTRODUCTION TO TOURISM MANAGEMENT Introduction to Hospitality Management Hospitality and Tourism Marketing Hospitality and Tourism Financial Management Festivals and Special Events Working in Tourism	3 HOURS 3 HOURS 3 HOURS 3 HOURS 3 HOURS